Varied Fluency
Position in the First Quadrant

Developing

1a. A(1,1);B(1,3); C (4, 2)

2a.A(1,2);B (2, 3); C(3,4)

3a. Vertices plotted from top left clockwise

(1.3)(3. 1) (1, 1)

Expected

4a. A (0, 7); B (3, 5); C(3,2); D(10, 4); E (6,
8); F(7, 3)
5a.A(5,5);B(4,7);C(6,7);D(7, 5)

éa. Vertices plotted from top left clockwise
(1.7)(8.7) (8, 3) (1, 3)

Greater Depth

7a. A (18, 4); B (20, 15); C (0, 0); D (14, 19);
E (5, 12); F (10, 8)

8a.A (2, 6);B(9,7); C(5, 13); D (14, 20); E
(12,17)

9a. Vertices plotted from top left clockwise
(12, 14) (17, 10) (15, 4) (9. 4) (7, 10)
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Varied Fluency
Position in the First Quadrant

Developing

1b. A (1, 2); B (2, 4); C (4, 0)
2b.A(1,2);B(2,2);C (4, 2)

3b. Vertices plotted from top left clockwise
(1.3)(5.3) (3. 1)

Expected

4b. A (1,2); B (5,3); C(7,1); D (9, 4); E(3,
8); F (8, 8)

5b.A(3,0);B(8,4);C(7,1);D (10, 8)

éb. Vertices plotted from top left clockwise
(4, 8) (5. 8) (5,0) (4, 0)

Greater Depth

7b. A (2,16);B (4,8); C(3,0);D (9, 5),E
(14, 15); F (18, 9)

8b. A (13, 20); B (13, 16); C (19, 6); D (20,
19); E (8, 12)

9b. Vertices plotted from top left clockwise
(2,16) (12,16) (17, 12) (12, 2) (2, 2)
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